
 

 

 

     

I.       Add:  

a)  56493 + 16097                             b)    48629 + 3984                         c)   21584 + 7860 + 59075  

     

     

     

 

 II.     Subtract:              

a)   5947 from 62342                                b)    24213 from 80000 

     

      

     

 

III.    Find the difference between 18837 and 31250                      

 

                                                                                            

          

        _____________________________________________________________________ 

IV.    Solve: 

a)  3500 – 2314 + 6851 =  ___________                                   
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V.     Read the following problems and solve them: 

a) Mr. Sharma withdraws ₹ 38,800, ₹ 30,275 and ₹ 70,275 from the bank on three successive 

days. How much money does he withdraw from the bank in total? 

  _______________________________________________________________ 

     _______________________________________________________________ 

     _______________________________________________________________ 

     _______________________________________________________________ 

     _______________________________________________________________ 

     _______________________________________________________________ 

b)  From a wire 30,000 m long, two pieces of 12,455 m and 10,455 m were cut. Find the length of 

the remaining wire. 

  _______________________________________________________________ 

     _______________________________________________________________ 

     _______________________________________________________________ 

     _______________________________________________________________ 

     _______________________________________________________________ 

  _______________________________________________________________ 

  _______________________________________________________________ 

MENTAL MATHS 

a) _________ - 1000 = 587 

b) Double of 90 is __________ 

c) The difference between the largest 3-digit number and the largest 4-digit number is _________ 

d) _________ added to any number gives the number itself. 

e) If we subtract a number from its ________________ , we get 1 as the answer. 

f) The sum of the largest 5-digit number and 1 is equal to _____________ 

g) 7264 + _________ = 829 + 7264 

h) 99 + 139 + 1 = __________ 
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